Test Paper on Old English

1. Define the pronunciation of the fricatives in the following words:

ðearf, ðis, cūð up-riste, waðema, wað, liðend, was, sūðan. Stefn, heofon, ge-sittan, ge-ðēōd.

2. Explain what sounds are expressed by the letters c, g, cg? 

 Weg, stīgel, streng, cild, plōg, secgan, morgen, mægð, genōh,  slōgon,  cēne, āgan, gān, gebētan. 

3. Explain why in some words we find the vowel /a/, while in the others /æ/. 

Talu, wæl, æfter, dæge, faran, fæder, pæð, tōgæðere.
4. Explain the correlation of the root vowels in the following words:

Full (full) – fyllan (to filll) < *fuljan; talu (tale) – tellan (to tell)<*taljan; burg (town) – byrig (the Dative of burg).

5. What is the origin of the diphthong in the following words:

eahte (eight) – Gth. ahtau; bearn (child) – Gth. barn;  steorre (star) - Gth. stairra; hēāfod (head) – Gth. haubið. 
6. What if the origin of the long root vowel in the words: ōðer (Gth. anðar), ūs (OHG uns), fīf (Gth. fimf).

7. Read the following text. Translate it into modern English. Do the tasks after the text.
Æfter ðæm ðe hē hīē oferwunnen hæfde, hē fōr on Bretanie ðæt Iglond, and wið ðā Brettas gefeaht, and geflīēmed wearð on ðām londe ðe mon hēt Centlond. Raðe ðæs hē gefeaht wið ða Brettas on Centlonde, and hī wurdon geflīēmede. (Orosius. Julius Ceasar)
æfter ðæm ðe, conj. – afer
oferwinnan, sv, 3 – to conquer

habban, wv. 3 – to have. (hæfde, hæfd)

faran, sv.6 – to go, travel

īglond, n.n.a. – island

Brettas – Britons

gefeohtan, sv.3 – to fight

geflieman, wv.1 – to put to flight

weorðan, sv.3 – to become; Russ. Вертеть
ðe, rel. conj. – which

hātan sv.7 – to call

Centlond – Kentish land

raðe ðæs – directly afterwards.

1) Find in the text strong verbs, define their form, give the principle forms.

2) Define the class of the verbs, give their principle forms: wrītan, drīfan, flēōgan (to flee), findan, helpan, steorfan (to die, starve), stelan, beran, cwēðan (to tell), standan, cnāwan, feallan.

3) Find in the text the predicates and define their type.

4) Find the direct and indirect objects, define their form.

5) Find the root morphemes which are still preserved in modern English.

8. Define by the suffix of the infinitive the class (1st or 2nd) of the following weak verbs: begnornian (to deplore), sendan, forspendan (to spend), timbrian (to build), baðian (to bathe), cēāpian (to buy), dēman (to deem), fæstan (to fasten).
9. Give the past forms of the following weak verbs: fēlan, wv.1 (to feel); folgian, wv.2 (to follow); bærnan, wv.1 (to burn); fremman, wv.1 ( to do); gīēman, wv.1 (to take care of); losian, wv.2 (to be lost).

10 Explain the relations between the following verbs:  licgan, sv.5 (to lie) and lecgan, wv.1 (to lay); ræran, wv.1 (to raise) and rīsan , sv.1 (to rise). What is the difference in their meaning? Give the modern descendants of these verbs.
